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Overview

The x7m1 cites the answer of 2" why it is not a 7”& 7RWw 7w nw. It would seem that
9" is part of the series of answers to explain the view of w"3, after the X7
concluded that *Xp >n>nk Xn?MR W', namely by a case where he stole someone’s
1297. Our NdOIN explains that 5" is not part of the series.
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The answer of "1 is not addressing our X209, where we are explaining the Xn>n
N>R, that the 213 stole a 1277, since according to %', it is not necessary to say

that w''1 is referring another case (where the 211 stole a 127p), as n1901n will shortly explain -
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Rather the reason %" also gives an answer here, is that since according to his
explanation, where he previously established our mw? in a case where the owner

was w7pn the animal while it was in the possession of the 313, so to avoid the question
of IR APRY AN -
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He established the ruling of ¥"2 where he was vmw blemished animals outside
the p"nma.

Summary
5"9 is only addressing the issue of 1 0w,

Thinking it over

Seemingly the answers of *»>7 27, and 727 were not addressing the issue of 29X
"% 'y (for that issue was resolved); they were responding to the question of v nw
IR 7RW, which applies to 9" as well, so why does npoIn write 1777 X208 Xp 89?!

1'5"5 said there (on 2,n0) that our mwn of W>TPm 233 (on 2,7v) means that the owner was w>Tpn it while it was in the
possession of the 213. According to this interpretation, there is no question of 717 *v2 X29°X, which the X3 asked here
(on the '& TnY), and which forced the X3 to say *Xp N>R XN R W', but rather he is discussing our 7awn of 213
7). Why then was it necessary for 2" to offer an answer.

2 Even according to the interpretation of 2" that 213 71 @°7v2 w>Tp7, the question still remains why is the '72 2>1 213
' if he was Y2 vmMw, since it is a IR APRY VAW,

3 Once a 1277 received a o there is no longer the prohibition of v *vINw, and it is a X7 7V AW as the X3 explains.
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